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QUESTION 1

Refer to the exhibit.

—

a b W K

=] n

8
9
10
11
12
13
14

from ucsmsdk.ucshandle import UcsHandle
from ucsmsdk.mometa.fabric.FabricVlan import FabricVlan

handle = UcsHandle("corpucsm.example.com”. "admin". "MySecretPassword")
handle.login()

fabric_lan_dn = handle.query_dn("fabric/lan")

newvlan = FabricVian(parent_ mo_or_dn=fabric_lan dn,
name="vlan10",
id="10")

handle.add_mo(newvlan)

handle.logout()

Which change allows the code to configure VLAN 10 in the Cisco UCS?

A. Lines 8 and 9 should have a line continuation \ at the end.

B. Line 13 should include "handle.commit()".

C. Line 4 should include transport 443 option.

D. Line 3 should add an import for query_dn.

Correct Answer: B

QUESTION 2

Refer to the exhibit.
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mo_dir = cobra.mit.access.MoDirectory(cobra.mit.session.LoginSession(apic_url, username, password))
mo_dir.login()

cq = cobra.mit.access.ClassQuery('fvCEp')

cq.subtree = 'full’

objlist = mo _dir.query(cqg)

for mo in objlist:

print "MAC: " + mo.mac + "|" + "IP: " mo.ip

Which action does the execution of this ACI Cobra Python code perform?
A. It prints all LLDP neighbor MAC and IP addresses.

B. It prints all Cisco Discovery Protocol neighbor MAC and IP addresses.
C. It prints all endpoint MAC and IP addresses.

D. It prints all APIC MAC and IP addresses.

Correct Answer: C

Reference:https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/1-
x/Operating_ACI/guide/b_Cisco_Operating_ACI/b_Cisco_Operating_ACI_appendix_011.html

QUESTION 3

Which two bootstrap technologies are supported by Cisco NX-OS platforms? (Choose two.)
A. IPXE

B. PNP

C. POAP

D. BOOTP

E. DHCP

Correct Answer: CE

QUESTION 4

Which Kubernetes container network interface provides intent-based networking from the same pane of glass that VMs
and bare-metal servers are managed?

A. ACI CNI plug-in

B. Contiv CNI plug-in
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C. Ingress CNI plug-in
D. Calico CNI plug-in
Correct Answer: D

Reference: https://docs.projectcalico.org/reference/faq

QUESTION 5

Refer to the exhibit.

event manager applet esm—correlate

event syslog tag twe pattern “"copy run start”
event ayalcocg tag three pattern "hella”™
tag one or two or three happens 1 in 120

actien 1.0 relcad module 1

event syslog tag one pattern "“copy bootflash:.* running—config.*"

What results from the EEM script that runs on a Cisco Nexus 9000 switch?
A. Module 1 is reloaded if one of the specified console patterns occurs within 120 seconds.
B. Module 1 is reloaded if one of the specified syslog patterns occurs within 120 seconds.

C. Module 1 is reloaded if all of the specified syslog patterns occur within 120 seconds.

D. The message "reload module 1" is printed if one of the specified syslog patterns occurs within 120 seconds

Correct Answer: D
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